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Candidates are required to give their answers in their own words as far as possible.
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Total number of Questions is 19.
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Question No.1 to Question No. 7 are Very Short Answer (VSA) Type Questions.

Answer any five of these questions mostly in one sentence. Each question carries 1

Marks.)

99T HEAT 8 { 14 ek oY 3T U &1 SHH A bl aier 9ea1 & 3o Jfepcid 50 rsal

H ATIT| I AF 9T &7 AT 3 3 AeTRa g1




> Question No. 8 to Question No. 14 are Short Answer Type Questions. Answer any
five of these questions mostly in 50 words. Each question carries 3 Marks.
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> Question No. 15 to Question No. 19 are Long Answer Type Questions. Answer any
three of these questions mostly in 100 words. Each question carries 5 Marks.
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> This question paper consists of three Groups A, B and C. All sections are

compulsory.

@s-31 (Group A)
Very Short Answer Type Question (3rfer arg 3oy wee)

1. FIRABIT 28T Tl Fgd 872
What is the cellular respiration?
2. Tolt Y TRy 3 R GTfe B T 77T Y 37
Which hormone has an active role in fruit ripening?
3. @R H et 1 TSASH HS[G giedT 87
Which enzyme is present in saliva?

4. frg 12 A 98 A Fgd &7

Which node is called the pacemaker?

5. gefeh ! TeTTcHeh Ud fshdTcHh Sehis T g7

What is the structural and functional unit of Kidney?
6. YI AT T SeloTel /T el 2T 33T T &7

What is the locomotory organ of Euglena?
7. ACTH & faEarid 9 a1 87

What is expanded form of ACTH?

@s-g (Group B)
Short Answer Type Question (g 3w{IT weeT)

8. 3TRT ¥ Fifad glat arer gTdfe ot =118 for.



Name the Hormone secreted by placenta.

9. gr3gT & fohd! Uah 31T & o1 ford |
Name one type of movement in Hydra.
10 3R oo, IR v IREPRIH & Seaolt Tarefl 7 71 Tard |
Write down the name of excretory product of ammonotelism, Ureotelism and

Uricotelism.
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What is cardiac circle?
12. HITAHIT 2qHA & cfleT TIOT AT &7

What are the three steps of cellular of respiration?
13. 1l & JTUR 9 AT & Glcll T TIRIOT .

Classify human teeth on the basis of function.

14. AISEIRTS AT SaRT TFYeT glet aTel HTT I AT 87
What is the main function performed by Cytokinin?

@s - ¥ (Group C)
Long Answer Type Questions (SIe 3a8 yesT)
15. Reret =it 1 qfcd |

Fill in the blanks.

[NEEEREE .is formed in cellular respiration.

ii. Glycolysis of one glucose molecule requires «=«+-+--+--- .. ATP molecules.
iii . Four ATP required in the--------- . process of two molecules of glucose.
[AARREER .is the power house of the cell.

VARRERERRES .hormone is responsible for senescence of leaves.
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Match the following.

Column A Column B

A Ball and socket joint [ Eblow joints

B Gliding joints i Axis joints

C Hinge joints iii | Carpus joints
D Pivot joints iv Skull joints

E Immovable joints v Shoulder joints

17. 31 |1 GTHI o SATH U SoTeh 1T T Sooll Y ST WA ITHATTEAT 0T §lol H HETIh o7
Name the hormones and point out their function which is essential to complete normal
pregnancy.

18. ST & 3cHolel dF ol Ueh TATS AHITohel T Wi |

Draw the neat labelled diagram of excretory system of human.

19. HeTsT # SR IRageT &l quiel Y|

Describe the blood circulation in human.




